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Approximate Pattern Matching Problem:
Find all approximate occurrences of a pattern in a text.
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Input: A pattern p = p1ps...p,, text t = tits... ¢, and
parameter k, the maximum number of mismatches.

Output: All positions 1 < i < m — n + 1 such that
titiv1 .. .tizn—1 and pips...p, have at most k mismatches
(ie., dp(ti, p) < k).
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(b) Query Matching

Query Matching Problem:
Find all substrings of the query that approximately match the text.

Input: Query q = ¢1...qp, text t = ¢, ...t,,, and integers n
and k.

Output: All pairs of positions (i,j) where1 <i <p-—n+1
and 1 < j < m —n + 1 such that the n-letter substring of q
starting at ¢ approximately matches the n-letter substring of
t starting at j, with at most £ mismatches.




